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Corporate Finance
Subject Code: DM 303
Trimester — lll, End-Term Examination, March 2018
PGDM, Batch 2017-19

Time allowed: 21/2 Hours Max Marks:

50

Roll No:

Instruction: Students are required to write Roll No on every page of the question paper,
writing anything except the Roll No will be treated as Unfair Means. In case of rough work

please use answer sheet.

Sections | No. of Questions to attempt Marks Marks
A 3 out of 5 (Short Questions) 5 Marks each 3*5 =15
B 2 out of 3 (Long Questions) 10 Marks each 210 =20
C Compulsory Case Study 15 Marks 15
Total Marks 50
Section A

A-1) A company is studying a half-dozen capital improvement projects. it has allocated Rs 1
million for capital budgeting process. The following proposals and associated profitability
indexes have been determined. The project themselves are independent of one another

Project | Amount (Rs) | Profitability index
1 5,00,000 1.21
2 1,50,000, 0.95
3 3,50,000 1.20
4 4,50,000 1.18
5 2,00,000 1.20
6 4,00,000 1.06

With strict capital rationing, which of these investments should be undertaken?

A-2) An investor purchased a share for Rs 100 and after four years she sold this share for
Rs 150 after four years . With no dividend paid by the stock her returns were 50% over a
period of four years .She therefore concluded that her annual returns were 12.5%. Is she

right in her conclusion? Explain

A-3) You are offered an annuity that will pay Rs.17,000 per year for 7 years (the first
payment will be made today). If you feel that the appropriate discount rate is 11%, what is

the annuity worth to you today?
J




A-4) High Dividend Yields Represent a Good Investment ... Or Do They?
A-5) Explain CAPM approach to valuation of equity shares?

Section B

B-1) A chemical company is considering replacing an existing machine with one costing Rs.
65,000. The existing machine was originally purchased two years ago for Rs. 28,000 and is
being depreciated by the straight line method over its seven-year life period. It can currently
be sold for Rs.30,000 with no removal costs. The new machine would cost Rs.10,000 to
install and would be depreciate over five years. The management believes that the new
machine would have a salvage value of Rs.5,000 at the end of year five . The management
also estimates an increase in net working capital requirement of Rs.10,000 as a result of
expanded operations with the new machine. The firm is taxed at a rate of 55% on normal
income and 30% on capital gains. The company's expected after-tax profits for next 5 years

with existing machine and with new machine are given as follows:
Expected after-tax profits
Year With existing machine | With new machine (Rs.)
{Rs.)
' 2,00,000 2,16,000
2 1,50,000 1,50,000
3 1,80,000 2,00,000
4 2,10,000 2,40,000
5 2,20,000 2,30,000

(i) Calculate the net investment required by the new machine.
(ii) If the company's cost of capital is 15%, determine whether the new machine should

be purchased.

B-2) A firm has sales of Rs. 10 lacs and fixed cost of Rs. 1.5 tacs. Contribution margin is
30%. It has 10% debt of Rs. 8 lacs. Find out Operating leverage, Financial leverage and
Combined leverage. Also find out that if the firm wants to double the EBIT, how much

percent increase in sales is needed?

B-3) Assuming that the firm pays tax at 40%, compute the Weighted Average Cost of Capital
from the following:
5,000 Equity shares of Rs. 100 each | 5, 00,000
10% Preference Shares 1,00,000
12% Debentures 4,00,000

The current market price of the share is Rs120. The Company is expected to declare a
dividend of Rs 12 at the end of the current year, with an expected growth rate of 8 %. Use

book value weights.

Section C
Estimate the Net Working Capital requirement for Vertical Ltd. from the following information.

Per Unit
Raw Material | 160
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Direct Labour | 60
Overhead 120
Total Cost 340
Profit 60
Selling Price | 400

Raw material is held in stock on an average for four weeks. Materials are in process

on an average for two weeks. Finished goods are in stock on an average for four
weeks. Credit allowed by supplier four weeks. Credit allowed to debtors eight weeks.
100% of material cost and 50% of conversion cost comprise of work-in-progress.
‘Time lag in payment of wages and overheads are 1% week and four weeks
respectively.

Other information:

Cash in hand/bank 5% of gross working capital
Expected level of production 1,04,000 units
One year is taken as 52 weeks.

Production is carried evenly throughout the year.
State your assumptions, if any
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